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Grade 6

Reading comprehension

In Jelly stone Park, the bears Yogi and Boo Boo live happily. But they have
a big problem now. Jelly stone Park loses business .Mayor Brown decides to
close the park and sell the land.

People in the city will lose a beautiful park. Yogi and Boo Boo will lose
their only home. The park keeper , Ranger Smith, will drive them out of the
park.

Yogi is smarter than the average bear. He thinks of an idea. He and
Boo Boo will work together with their “enemy ” Smith. They will find a way to
save Jelly stone Park together.
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1.( )In Jelly stone Park, the bears Yogi and Boo Boo live happily.

2.( )Mayor (51<) Brown decides to ((R7E) open another park.

3.( )The park keeper (FE A ), Daniel Washington, will drive them out of (#FH)
the park.

4.( )Yogi is smarter than the average (ZiEHY) bear.




	C__Users_Administrator_Desktop_英语阅读（3-6年级）_六年级_Grade 6 Reading comprehension_8.docx.png
	C__Users_Administrator_Desktop_英语阅读（3-6年级）_六年级_Grade 6 Reading comprehension_8.docx0001.png

